
SAP ABAP table RN1VKG_DAT {IS-H*MED: N1VKG structure extended by the planning date}

RN1VKG_DAT

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ORGID [CHAR (8)]

ANFTY [CHAR (6)]

ETROE [CHAR (8)]

ETRGP [CHAR (10)]

PATNR [CHAR (10)]

FALNR [CHAR (10)]

EARNR [CHAR (10)]

AFNOE [CHAR (8)]

WLPRI [CHAR (2)]

WLTYP [CHAR (6)]

WLRRN [CHAR (3)]

WLSTA [CHAR (2)]

STOID [CHAR (3)]

PAPID [CHAR (10)]

EXTKH [CHAR (10)]

UARNR [CHAR (10)]

HARNR [CHAR (10)]

RFSRC [CHAR (2)]

PRTID [CHAR (10)]

TROOM [CHAR (8)]

FATYP [CHAR (2)]

N1ANFTYP

MANDT [CLNT (3)]

ANFTY [CHAR (6)]

 RN1VKG_DAT-ANFTY = N1ANFTYP-ANFTY 
0..N

1

N1STGR

MANDT [CLNT (3)]

EINRI [CHAR (4)]

STOID [CHAR (3)]

 RN1VKG_DAT-STOID = N1STGR-STOID 
0..N

1

NBAU

MANDT [CLNT (3)]

BAUID [CHAR (8)]

 RN1VKG_DAT-TROOM = NBAU-BAUID 

0..N

1

NFAL

MANDT [CLNT (3)]

EINRI [CHAR (4)]

FALNR [CHAR (10)]

 RN1VKG_DAT-FALNR = NFAL-FALNR 

0..N

{0,1}

NGPA

MANDT [CLNT (3)]

GPART [CHAR (10)]

 RN1VKG_DAT-EARNR = NGPA-GPART 

0..N
{0,1}

 RN1VKG_DAT-ETRGP = NGPA-GPART 

0..N

1
 RN1VKG_DAT-EXTKH = NGPA-GPART 

0..N

1

 RN1VKG_DAT-HARNR = NGPA-GPART 0..N

1

 RN1VKG_DAT-UARNR = NGPA-GPART 

0..N

1

NORG

MANDT [CLNT (3)]

ORGID [CHAR (8)] RN1VKG_DAT-AFNOE = NORG-ORGID 0..N

{0,1}
 RN1VKG_DAT-ETROE = NORG-ORGID 

0..N

1  RN1VKG_DAT-ORGID = NORG-ORGID 

0..N

1

NPAP

MANDT [CLNT (3)]

PAPID [CHAR (10)]

 RN1VKG_DAT-PAPID = NPAP-PAPID 

0..N

{0,1}
NPAT

MANDT [CLNT (3)]

PATNR [CHAR (10)] RN1VKG_DAT-PATNR = NPAT-PATNR 
0..N

{0,1}

NPRT

MANDT [CLNT (3)]

PRTID [CHAR (10)]

 RN1VKG_DAT-PRTID = NPRT-PRTID 

0..N

1

T000

MANDT [CLNT (3)]

 RN1VKG_DAT-MANDT = T000-MANDT 

0..N

1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 RN1VKG_DAT-EINRI = TN01-EINRI 

0..N

1

TN14H

MANDT [CLNT (3)]

EINRI [CHAR (4)]

BEWTY [CHAR (1)]

REFSRC [CHAR (2)]

 RN1VKG_DAT-RFSRC = TN14H-REFSRC 

0..N

{0,1}

TN14P

MANDT [CLNT (3)]

EINRI [CHAR (4)]

WLPRI [CHAR (2)]

 RN1VKG_DAT-WLPRI = TN14P-WLPRI 

0..N

{0,1}

TN15C

MANDT [CLNT (3)]

EINRI [CHAR (4)]

CASETY [CHAR (2)]

 RN1VKG_DAT-FATYP = TN15C-CASETY 

0..N

1

TN42A

MANDT [CLNT (3)]

EINRI [CHAR (4)]

WLTYP [CHAR (6)]

 RN1VKG_DAT-WLTYP = TN42A-WLTYP 

0..N

{0,1}

TN42B

MANDT [CLNT (3)]

EINRI [CHAR (4)]

WLRRN [CHAR (3)]

 RN1VKG_DAT-WLRRN = TN42B-WLRRN 

0..N

{0,1}

TN42C

MANDT [CLNT (3)]

EINRI [CHAR (4)]

WLSTA [CHAR (2)]

 RN1VKG_DAT-WLSTA = TN42C-WLSTA 

0..N

{0,1}


